Efficiency vs P,

+0.05,
o
£.045
>
20.04
o
£.035
O]

0.03
0.025

0.02 : ; ;
0.015:—------*-@ ------------ SR .
0.02F--++-t - frernieeens hecnasnanesd .
0.005¢ * ............ S S

1.

Ratio

o
'_\(D
o%

N

0 R el

—=— DQM_V0001_R000000001__Global__mkFit_nobatch
—— DQM_V0001_R000000001__Global__mkFit_maybebatch

=0.05

o F
D045+ 1eeeee et T A
2 E !
§0.04F - ferveen b -
o F !
F0.035F - freerrem et |
(5] F :
0.08F | {tfroemerdeneeesbo e ?
L 1 0 R O !
002;_ -é'"-""'é"" 4 R : .
OOST:I S B R | | A S
0.0 TR STH: | 11
0.005F- At [ 5
o L_\'Qf....l....!....!....l....l....
T I .
o L ]
1_—- w:«- L. I
0.95'5 -2 -1 0 1 2 3

TP N

Efficiency vs @

o-0.05
[
Q.045
8
90-04
(&)
).035
(]
0.03]
0.025
0.02

o
o
=
a1
H

...!.'.'.'.'.!.'.'.'.'.|.'.'.'.'.|l.'.'.'.'{.'.'.'.'{.'.'.'.'{.'.'.'_l

||'-||||

TP @



	Contents
	Page 1


